S BERLIERHL

9- 26
—. i

9-19. 9-26 MY B0l XML, — M TR I A e e s ild KL, R mrT
2T HEkl . Bk A B W EAS H S AR R 2 Sk AR
VL ANELE 50°C (IR AR 80°C), A5 b B8 2 - J il 4ok AN AT
150mg/m°.

—. B

ATBXHL R A, # Nod. 45. 56. 6.3, 7.1, 8. 9. 10. 11.2.
12,5, 14. 16 3 13 ML 5

B A B DIHLFE I tH A R s . “I”, “3” Bynlifilk 0° o
45° | 90° . 135° . 180° . 225° L NHhAAE.

ML) 7 20k A 3 (No. 4~6.3) Fil D 2 (No. 7.1~16) .

=. &1

No.4~6.3 LZh4e. Hloe. RO . 24l No.7.1~16 F: %L
FHIE . Hlse. BERE . AL3hdl Ak

M. 9-19 BIKMLM A 12 f, 9-26 BUKWLIFoh 16 Fro g T
B AT AR A St v [ AN R I 140nys S R S 2R
HPPHRIE, OSP4 .

Bloe: S AR a0 se A

BRI eSO ER BY (A Al i , g [ e e T s A .

fEghel:  mAsh. PlRFE. BEANAS A . TR LN, Ak
FORARZE, RANRB A .

. T

1. TSRS B RHLIINL S Bedd X, TR0, A EE . Es:
J7 10 LA R B B 5 R

2. 9-19 K 9-26 Ne8(n>1800r/min)F1Ne16(n>1200r/min) &5 .La3t XL H- 46
FRA A s, TS RS .

de RLEEREE D, RAERP IR U] Z ahBLIA 2k s 380V, %2414
B B3.

126



9-26 B

TE KA RE Sk AR

MU | B | 7 | e | &k | s H ) Ml
ik T Ik ) S A
No. [rmin| 5| m¥h | Pa [ kW | = 7 | kW | @4%) |@d
1| 2198 [3852| 3.7
2| 2368 [ 3820 39 | Y112M-2 4
3| 2536 |3765| 4.1
4N | 2900 | 4 | 2706 | 3684 | 4.4 M10X 45 |12X50
5 | 2877 | 3607 | 4.6
6 | 3044 | 3502 a9 | (12| 55
7 | 3215 | 3407 | 5.2
1| 3130 [4910| 6.3
2 | 3407 |4863| 6.8
s 30e5 a6 72 | Y132522 | 75 | MI10X45 |12X50
45A | 2900 | 4 | 3963 |4661| 7.6
5 | 4237 |4545| 81
6 | 4515 |4412| 87 | Y160M-2 | 11 M12X50 |19X70
7 | 4792 | 4256 | 9.2
1| 4293 |6035]| 105
2 | 4706 | 5984 | 11.3
3| 5114 [5869 | 12.0
5A | 2000 [ 4 | 5527 |5725] 129 | Y1OOM=z2 | 15 M12X50 [19X70
5| 5941 |5553| 13.8
6 | 6349 |5381| 14.7
7 | 6762 | 5180 157 | Y160L-2 | 185
1| 6032 |7610]| 185
2 | 6612 |[7546| 199 | Y180M-2 | 22 M12X 50
3| 7185 | 7400 21.2
56A | 2900 | 4 | 7766 | 7218 22.8 19X 70
5 | 8346 | 7000 | 24.3
= so1o Tevei o665 Y200Lr2 | 30 M16X 60
7 | 9500 | 6527 | 27.7
1| 8588 | 9698 33.3
2 | 9415 | 9616 | 35.8
3 | 10230 [ 9429 | 383 | Y225M-2 | 45 M16X60 |19X70
6.3A | 2900 | 4 | 11056 | 9195 | 41.0
5 | 11883 | 8915 | 43.8
6 | 12699 | 8636 | 46.8
1 I3oc 18310 499 | Y250M-2 | 55 M20X75 |24X80

131




9-26 BLIE XML RE SR AR

Pl

No.

ek

r/min

P i A

m/h

SN

Pa

TG
kw

g

5)

L

o

= =

kw

o B i
(4 %)

B b g

1%)

7.1D

2900

12292

12427

61.8

13475

12321

66.4

14643

12078

71.0

Y 280S-2

75

15826

11776

76.1

17009

11415

81.3

18177

11055

86.8

Y 280M-2

90

M20X500

19360

10635

92.5

Y 31552

110

M24 X630

65" 140
65" 140

8D

2900

17584

15955

112.3

19277

15818

120.5

20947

15504

128.9

Y 315M-2

132

22640

15112

138.2

24332

14644

147.7

26003

14177

157.6

Y 315L4-2

160

27696

13634

168.0

Y 3151 ,-2

200

M24 X630

65" 140
65" 140

1450

8792

3834

14.0

9639

3802

151

10473

3729

16.1

11320

3638

17.3

12166

3529

185

Y 180M-4

185

13001

3421

19.7

13848

3294

21.0

Y 180L-4

22

M12X 300

48" 110
65" 140

9D

1450

12518

4869

25.3

13723

4828

27.2

14913

4736

29.0

Y200L-4

30

16118

4620

31.1

17322

4481

33.3

18512

4343

355

Y 22554

37

19717

4181

37.8

Y 225M-4

45

M16 400

55" 110
65" 140

60" 140
65" 140

10D

1450

17172

6143

41.9

19319

6056

46.0

21465

5920

50.5

Y 250M-4

55

23612

5761

55.3

25758

5560

60.3

27905

5309

65.0

\l@(ﬂhwl\)I—‘\lmmhwl\)l—‘\lmmhwl\)H\IQthl\)l—‘\l@(ﬂhwl\)Hd'[ﬂ

30052

5065

69.6

Y 280S-4

75

M20X500

65" 140
65" 140

75" 140
65" 140

132




9-26 BLIE XML RE SR AR

WL [l | 7 | 3 & |42 R | /& i 5 MLl W
o [y g |9 R[L W B R|
No. [r/min| & | mh | Pa | kW | = 7 | kw (4%) (1%)
1 | 24126 | 7747 | 738 75 140
2 [ 27142 | 7637 | 81.0 | Y280M-4| 90 | M20X500 |QgY —-
3 | 30157 | 7464 | 89.0 757 140
1450| 4 | 33173 | 7264 | 97.4
5 [ 36189 | 7000 [106.2| ¥ o4 | 110 80" 170
M24X 630 | QgY ——
6 | 39205 | 6691 | 114.5 Y315M-4| 132 75" 140
190 7 | 42221 | 6382 [122.7
1 | 15973 | 3346 | 21.4
2 | 17969 | 3299 | 235 60" 140
S Tooes | 5225 [ 255 | 225M6| 30 | M16X400 | QY
960 | 4 | 21963 | 3140 | 283
5 | 23959 | 3031 | 30.8 &5 140
6 | 25956 | 2895 | 33.2 | Y250M-6| 37 | M20X500 |QgY —
7 | 27953 | 2763 | 35.6 757 140
1 | 33540 | 9713 |127.8
2 | 37732 | 9575 | 140.3 | Y315L.-4| 160
3 | 41925 | 9356 | 154.1 o 80" 170
4 | 46117 | 9103 | 168.7 757140
145075750310 | 8782 | 183.9|Y315L,-4| 200 | M24X630
6 | 54503 | 8381 | 198.2
7 | 58695 | 7993 | 212.5 |Y355M;-4| 220 Qv 2170
125D 75" 140
1 | 22206 | 4179 | 37.1
2 | 24981 | 4121 | 40.7 | Y280S-6 | 45 25 140
3 | 27757 | 4028 | 44.7 M20X500 | QgY ——
960 | 4 | 30533 | 3921|490 |\ oeni 6l 55 757140
5 | 33300 | 3785 | 53.4
6 | 36084 | 3615 | 57.5 80" 170
7 Tass00 | 3450 | 17 | Y3I556| 75 | M24X630 | QoY oo
1 | 47121 |12285] 225.2
2 [ 53011 [12100| 2473 S2oM=4) 250 ,
oy 3170
3 | 58902 11830 | 271.5 | Y355L,-4| 280 5" 95~ 170
14D\ 1990 — 52705 (11508 207.3 [Y355L,4] 315 | V24630
5 | 70682 | 11099 | 324.1 ;
6 | 76572 | 10589 349.3 (\6(3388{/4) 355 ng%
7 | 82463 |10095| 3745 400

133




9-26 Byl RHLHE e S AR

U5 | B | P | W & | 4@ BT W H 3)) UilA W
0RO R[E W R R
No. [/min| 5 | m’h | Pa | kW | = 7 | kW | @“4%£) a5
1 | 31197 | 5262 | 65.4
> 35007 | 5188 | 718 | o006 7
3 | 38997 | 5071 | 78.8 .
14D | 960 [ 4 | 42897 [ 4936 | 863 | " ooM6| D0 | yioaxezo | gy B2 170
5 | 46796 | 4764 | 94.0 95" 170
6 | 50696 | 4549 | 101.4 | Y315L,-6| 110
7 | 54596 | 4341 | 108.7
1 | 70339 |16250] 439.1 500
2 | 79131 |16014] 482.2
3 | 87923 |15640|520.4| Y450-4 | 560 120" 210
Lago| & | 96716 1521015796 (6000V) [ M30X 800 |BsY -0
5 |105500|14663| 6318
6 | 11430013983 681.0 710
Y 500-4 130" 250
16D 7 |123090| 13324| 730.2 | (S | 800 | M36 1000 |BeY =
1 | 46560 | 6911 | 127.4
2 | 52390 | 6813 | 139.9 |Y355M-6| 160
3 | 58211 | 6659 | 153.6 % 170
960 [ 4 | 64032 | 6481 [1682] ner | 10 | M24X630 | QaY -0
5 | 69854 | 6254 | 183.3 2 95" 170
6 | 75675 | 5971 | 197.6 |Y 355M 46| 200
7 | 81496 | 5696 | 211.9 | Y355L,-6] 220

134




ay=)lex tu
ey

p
e Nl
._|T-_
e
(v=) zex vu (1 .|m|
L] °v
KL
A |
]
|
I
I
|
I
O |
N |
|
]

a
¢
£a

HUX Tu

IX TPNXTY q

il
o0 W\_R

B W AW H EE W W EBYE e~y oN g 2e70

6T-6

135



s 5 o ZH1 NO.4~6.3A 103l KUK 22 M AN R~ 2

Y]l

Wl5
No.

iz

I

N

~F

th

I

IN ~F

D,

D,

Ds

n1>< d]_

A1

N3 X a.]_(:A 2)

As

Ay

Ng X @(=As)

AG np X dz

9-19

¢ 180

¢ 205

¢ 230

8X 7

128

4% 40(=160)

182

92

3X 42(=126)

148/14X & 7

4.5

¢ 200

b 225

¢ 250

8X 7

144

4 44(=176)

198

104

3% 45(=135)

160[14X & 7

b 224

¢ 254

¢ 284

8X 7

160

4X 48(=192)

214

115

3% 50(=150)

171114X &7

56

¢ 250

¢ 280

¢ 310

8X ¢ 10

179

4% 53(=212)

233

129

3X 54(=162)

185/14X &7

6.3

¢ 280

¢ 320

¢ 360

8X ¢ 10

202

4 59(=236)

258

145

3% 60(=180)

204/14X & 7

Wl5
No.

b

iz

N

~F

5k fit

N

~F

G K

a

d

(LES))

b BRI AR

i kg
IS

f

Md; X1

HLLD

100

271

599 | 286

420

200| 350 | 50

300|385

35

M12X 300

43

4.5

110

303

671 | 322

450

200| 390 | 50

300|430

39

M12X 300

54

126

335

743 | 358

500

2801 450 | 50

380|495

43

M12X 300

66

56

140

375

831 | 401

550

3501 485 | 50

450 (534

48

M12X 300

90

6.3

157

423

936 | 451

620

450| 570 |60

570|626

55

M16< 400

138

9-26

Wl5
No.

I

JX

th

I

N ~F

D,

D,

Ds

A1

N3 X a.]_(:A 2)

As | Ag

Ny X 8p(=As)

AG np X dz

b 224

¢ 254

¢ 284

196

4X 57(=228)

250

128

3% 55(=165)

184(14X 7

4.5

¢ 250

¢ 280

¢ 310

221

4% 63(=252)

275

144

3% 59(=177)

200(14X &7

¢ 280

¢ 320

¢ 360

245

4X 71(=284)

299

160

3X 64(=192)

216/14X b7

56

¢ 315

¢ 355

¢ 395

274

5% 61(=305)

328

179

4% 53(=212)

23518X b7

6.3

¢ 355

¢ 395

¢ 435

309

5% 68(=340)

365

202

4 59(=236)

26118X &7

Wl5
No.

b

iz

5k fiti

N

~F

a b

d

(LES))

MBI A

i kg
IS

f Md; X1

HLALD

132

360

711 | 287

761

450

200 | 390 |50

300|430

49 IM12X 30

0 50

4.5

147

405

799 | 322

849

500

280 | 450 |50

380 | 495

55 |M12X 30

0 62

165

450

887 | 359

937

550

350 | 485 |50

450|534

61 |(M12X30

0 78

56

185.5

504

993 | 402

1053

620

450 | 570 |60

570|626

67.5 M16X40

0 118

6.3

209

567

1117 | 451

1167

680

550 | 720 |70

690|780

77 |M20X 50

0 170

136




.GZ2 M ,08T X oGET My 206 M
oY

B 9

——f—

S=) CBx E_

3

T

N_UX <u

Tex eu

o

T
|
vy
— -
_

—F 1

I

= 1
y
ey

T T

Ipx Tu

|

|
k_\

|

o0 M

3

RS Y AW RN B A9T ~ T LUON L

9¢-6
6T-6

137



9-26 %41 No.7.1~16D &

B RAHLIME I 222 ST 3R

IR i H IN ~F H i R ~f
NO. "D T D, | Dy | mXdi | AL | mXa(=Ay) | As | As | naXa(=As) | As| mpxd
7.1 | 400 | 450 | 500 | 8X ®12 | 348 | 6X 65(=390) |414 | 227 | 4X 68(=272) [296| 20X @ 10
8 | 450 | 500 | 550 | 8X @12 | 392 | 6X72(=432) | 458 | 256 | 4X 75(=300) |325|20X 10
9 | 500 | 560 | 620 [12X ®12| 441 |6 80.5(=483) | 507 | 288 |4 X 82.5(=330)|357 | 20X ® 10
10 | 560 | 620 | 680 [12X ®12| 490 | 6X88(=528) | 556 | 320 | 4X 89(=356) |389| 20X © 10
112 | 630 | 690 | 750 |[12X ®12| 549 | 8X 75(=600) | 638 | 358 | 5X 82(=410) |450| 26X ® 12
125| 710 | 770 | 830 |16X ®12| 613 | 8X83(=664) | 702 | 400 | 6X 76(=456) |492| 28X © 12
14 | 800 | 860 | 920 |16X ®12| 686 | 9X 83(=747) | 795 | 448 | 6X 86(=516) |564|30X ® 12
16 | 900 | 970 | 1040 |16X ® 15| 784 | 10X 84(=840) | 893 | 512 | 7X 84(=588) |628|34X P12
L Ak A R ~F Kt fitt R ~F
No. E F G K L M H a| b c d e f g | h
7.1 | 237 | 639 | 1259 | 509 |1317| 1370 | 280 | 520 | 440 | 327 | 590 | 510 | 242 | 298 |61
8 | 262 | 720 | 1421 | 574 |1349| 1531 | 280 | 520 | 440 | 334 | 590 | 510 | 263|319 |61
9 | 294 | 810 | 1597 | 646 |1392| 1702 | 280 | 520 | 440 | 346 | 590 | 510 | 286 | 342 |61
10 | 327 | 900 |1815| 717 |1433| 1873 | 280 | 520 | 440 | 353 | 590 | 510 | 309 | 365 | 61
11.2 | 367 | 1008 | 1985 | 803 | 1694 | 2090 | 375 | 700 | 620 [ 409 | 780 | 700 | 340 | 396 |61
125| 418 | 1125 | 2215 | 896 |1755| 2325 | 375 | 700 | 620 | 420 | 780 | 700 | 370 | 426 |61
14 | 469 | 1260 | 2481 | 1003 | 2199 | 2562 | 500 | 900 | 900 | 523 | 1000 | 1000 | 438 | 538 (112
16 | 524 | 1440 | 2831 | 1147 | 2270 | 2946 | 500 | 900 | 900 | 546 | 1000 | 1000 | 484 | 558 (112
. b R A Bloe HLATL 5 kg
*ﬁf Hi B Hi B H BN WEE | (L
' (LES) ((LESS) ((LESS) JILZF4)
7.1 M24X 630 M20 % 500 DL PERER 2316 501
8 M24 X 630 M20X 500 AR ER: 2316 542
9 M24 X 630 M20 X 500 DL PERER 2316 644
10 M24 X 630 M20X 500 DL PERER 2316 687
1.2 M 30X 800 M20X 500 m PEfER 22320C 1150
125 M30 X 800 M20 % 500 DLVERESR 22320C 1250
14 M 36X 1000 M 30X 800 DLPERE 22324C 2110
16 M 36X 1000 M 30X 800 DLVERESR 22324C 2670
m%%ﬂjMDﬁﬁm%qﬂ/D%&%MRﬁ
No, JIi O JIii 45° JIi 90° Jii 135° Jii 180° Jiii 225°
NI T]TIINTJTT]TI[N]JTT]TI[NTITTIIN]JT]TIIN]TITT]TI
7.1 | 755(320| 420|690 | 520 | 420 | 655 | 520 | 420 | 620 | 500 | 420 | 585 | 500 | 480 | 550 | 480 | 480
8 (845|350 |500| 790|600 |500 | 730|600 |500 700|600 500 | 650|600 | 500|610 | 550 | 550
9 [940 400|550 865|650 |600|820| 650|550 775 | 650|550 | 730 | 650 | 550 | 685 | 600 | 580
10 [1035|470| 600 | 950 | 700 | 650 | 900 | 700 | 600 | 850 | 700 | 600 | 800 | 700 | 600 | 750 | 650 | 600
11.2 [1160| 550 | 700 |1070| 850 | 700 [1030[ 850 | 700 | 960 | 850 | 700 | 900 | 800 | 700 | 850 | 750 | 700
12.5 [1285| 600 | 800 |1190| 940 | 740 |1125| 940 | 740 [1160| 940 | 740 |1000| 900 | 740 | 940 | 820 | 800
14 [1420| 650 | 800 1330[ 950 | 800 1250 950 | 800 [1200| 950 | 850 |1120| 900 | 850 [1080| 900 | 900
16 |1650| 700 | 950 [1500(1200/1000|1420|1100| 900 |1350|1100| 950 |1250|1100|1000|1200/1000| 900

139






